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Abstract 

mollasadra following say the study of science in two ways: 1 - way of discovery and 

acquisition. 2 - Way of inspiration and inspiration. the method of discovery is the method 

of teaching and teaching and attention to reasoning that is a general way, and every one has 

its own limitations. But the path of inspiration and inspiration is the way God makes the 

light of science to the human heart, patriarchs and  ������ are in this way. In this way science 

is achieved with the purification and abstraction that the difference between the two 

sciences is the difference between the description and the taste, which through the 

acquisition of a person hears the sweet and learns it, but it tastes sweet by inspiration and 

inspiration. in order to obtain knowledge from the way of purification of knowledge 

through the purification of the self, mollasadra has a special importance, and it recognizes 

the inspiration and inspiration of inspiration to the prophets and the parents. the aim of this 

study is to investigate the ratio of knowledge and knowledge with the virtues and virtues of 

morality. therefore in this study, the relationship of science and practice, knowledge of 

science and knowledge with the virtues of science and vice of vice 
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